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-I/PART -1

919 fae9 g RIS/ CHILD DEVELOPMENT AND PEDAGOGY

z%é’w:ﬁwﬁn‘emw#a?aﬁ?#émmmﬁwgﬁm

Direction : Answer the following questions by selecting the most appropriate oplion.

L et e @) e § Renid & 1.Q.
AT 84 § HUFHAH 145 T o1 T®
Fr1 & & Rbm 1 3 SeeT @ TEE
F@r 2 ?
(1) ¥
() el

(2) e
(4) Y8R

2. FYF “guH A FgET” F ard

) g T # fRem oo} wA @

T 3EEY

(2) uﬁmwaﬁrﬁﬁﬂwaﬁm
f3rer A T )

(3) IRF TATH H AFF "D
U

(4) mw%eﬁmﬁﬁﬂm
P fren & or@ET 1 gEEAT

3. P g sfoofRa Afswa @@ 3
Aiew ¥ fFaq awal & affed fear @
g7
(1) 100
(3) 180

4. ¢ qugy FEfd @
(1) wfes sifrm |
(2) &3 ™ q
(3) H=afee ™ A
(4) SEABAES A J

(2) 150
4) 120

Level-3/277

1.

4.

The 1.Q.'s of the pupils in Mrs. Gupta's
class go from a low of 84 to a high of
145. This is an example of which trait ?
(1) Uniformity (2) Validity

(3) Variability (4) Range

The phrase ‘"equal educational
opportunity" means equal

(1) Opportunities for all children to
have access to education

Equality of type of education

available for each child

(2

3)

Equality of educational standards

for each child
(4) Equal opportunities to have the

type of education for which one is
suited

How many factors are included in

Guilford's model of structure of
intellect ?

' (1) 100 (2) 150

'(3) 180 (4) 120

Albert Bandura is associated with
(1) Verbal learning

(2) Sign learning

(3) Insight learning

(4) Observational learning

P.T.0.



. 3% @ Ry # S R e A
frepra # Fed &

(1) agasR fawE

2 d&E feF|

(3) FHU-guRE

¢) RREE

" 3 afrm R H
it & . gepre |fafer 2 |

(1) 5 (2) 6

@) 8 (4) 17

Rrem & @ Rads sEw R R
q BRI

(1) Sa=H &=
(2) foamedi 3z
3) femea Ffsa
(4) arEE Fisd
. et ¥ @ Pt 39 TeR 8 A #X
R ot B sEeh offft 3 IEE A T
h o, i gE Y FE B g TE B
Rre ‘omge’ ¥ | 9€ JETET SEGA Bl
(1) oY wedE B OARRE A H
i q9E @ A |
(2) NRERF THAT F JIFHT |
(3) T H wadgel i |
(4) TF T afeha |
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(4)

pment that proceeds from

The develo
ry is termed as

the centre to the periphe
(1) Spiral development
(2) Linear development
3) Proximo-distal

(4) Ceph;lo-CaudéI

Gagne's theory of Hierarchical learning

... types of learning.

includes ......
(1) 5 (2) 6
(3) 8 4) 7

Which of the following 1s not a

defense mechanism ?
(1) Day-dreaming
(2) Association

(3) Regression

(4) Sublimation

Major shift in education is from
teacher centric to

(1) Management centric

(2) Learner centric

(3) School centric

(4) Parent centric

Mili refused to wear the expensive dress,
her aunt sent her for her birthday
because some one said dress was "out"
for party. This is an example of

(1) The power of a primary group to

dictat_e to its members.
(2) Disintegration of family unity.
(3) Conflicts resolution within a society.

(4) A cultural artifact.



10.

11.

12.

‘Tl g SR N 9N EEErd @
"M o oREeH & & sy By
T fhge = 2 ?

(1) Ffafed -
(2) # 3 @
3) IH & o=
(4) AP

et 3 @ Rem 3 Rem 3
HIER, W (Fafien) @ aad
2

(1) qdadt femm dfes doamet
Y gaEReTE w5 # e | '

(2) F & Tl #1 wwEeE F
T gdadd dfeF w@Eel ¥ guR
P &3 FIER A |

@) @ 9 T TEA

Erﬁéh‘ﬁla
GrTaET & | ' ‘

() JUEIHH 9 HAAHH g @
adF Yot § Fafyd FE

s "o H RTHE-RA qde @

(1) @nyfes e
2) s e

(3) fAsarEs gdieror
(4) HenfEH qheor

Level-3/277

(5)

10.

11.

12.

'Learning is the modification of
behaviour through experience and

training.' Who said this ?
(1) Colvin

(2) Crow and Crow

(3) Gates and others

(4) Cronback

According to Piaget's cognitive
development theory, accommodagion

is referred to

(1) A kind of matching between the

already existing cognitive
structures and the environment

needs as they arise.

(2) Adjust to new ways of thinking
and by

in one's

behaving making

modification existing

cognitive structure.

(3) Equilibrium between previous

knowledge and new knowledge.

(4) Arrangement of perceptual and

cognitive information in

meaningful patterns.

Standford-Binet Test of Intelligence is
a 1 - -

(1) @Hfes gdEe
(2) wfeEs qteror

(3) fAsures ey
(4) Hanfes qheor

P.T.O.



13.

14.

15,

16.

17.

s AEEeE ' 9 HE
T X § ofay St @ ol F
FA Y 7 A e A dw g9 A
Fd FH P g A A H A S
AT 2

(1) STy (geeaH) faepre

(2) WS [

(3) e foqerE
4) 7= fwE

ST 1 JeEey w91 & 7

(1) @ 3w

(2) HE FHEM ™
(3) IETH-TRRA HAT™H
(4) R arfrm

e 87 7
(1) ®rIs
(3) s

(2) RS e
(4) &H

Fq § Q@Y HaE | F I
Tife ?

(1) faarg (2) ga

(3) faEr (4) -

ws ferefl flo Tgo waw wdem @ R

3R we T 2| 98 §e9d dear & “F

AGH T & A =ed@ g, T
J2TETT B

(1) JSRIHH

(2) 98T

(3) gFRTETeT/RTEReT

(4) TIRTHIET

Level-3/277
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13.

14.

16

17.

The difference between the actual
development  level &  potential
development level, the difference
between what the cdld can do now &
what the child £ah do with adult

guidance dre xhore capable peers 1s
known ag/thg zone ot

(1) g (3eeam) faepra

(2) AT fasr

(3) wHiv® fasE

(4) T o™
Which one is the highest order of
learning ?
(1) Chain learning

~ (2) Problem solving learning

(3) Stimulus - response learning

(4) Sign learning

Who said, "adolescence is a period of

storm and stress" ?
(1) Freud (2) Stanley Hall

(3) Piaget (4) Hurlock

Interaction 1nsidg the classroom
should genérate
(1) Contrdvers (2) Information

(3) Ideas (4) Argument

A student trying admission for B. Ed.
but failed in entrance exam. He used
to say rﬁm "he don't want to be a
teacher”. fu 1s*anexample of

(1) $ublimation
(2) [Projection

(3) Rationalization
(4) Ientification



18.

19.

20.

21.

(7
o fufee 3 fenfeal #t o e
R & 9 g1 % g
Fe | 3 fFg e 3
BREARIG B
(1) (2) yare
® (4) e
Fftrm & Juafr B
(1) §H (2) gy
(3) B (4) I |

o & qfaer 3 omaR W, Mo @
F T T ST @ g7 iR
WA g # B 1 AR Mo @M o g
F e B QIR e E, A way o
i I fore @ g ?

(1) gd qhe ¥ ggead S @ arey
g4 o gl R o gw @ )
TR T | -

(2) 3ITH IF ONHF AEGH TP
T FTA

(3) od% Td F FOHT & B o
T Tewd B ¥

(4) T A &A= gl o g
wiaw & fog Ay w7, 98 gy
% o B /& sas g geaqr ¥

Feadt & A fFm 3 e w1 o
TTRrd &R = 9 & B @ am
yefidfa 7ef dar & ?

(1) sTerisa fofg
(2) T0T AN ST HPEHTT

(3) Fite afeE sfmes
(4) AAER GO AT

Level-3/277
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18.

19.

20.

21.

A teacher told her students to have a
poem ready to share it in break
sometimes during the day. Which
component does it show of creativity ?
(1) Flexibility (2) Fluency

(3) Originality (4) Elaboration

The achievement of learning is
(1) Knowledge (2) Attitude

(3) Skill (4) All of the above

Mr. Khan was told at school that his
Aamir had only an average
intelligence, according to the school
test. If Mr. Khan wants to improve his
son's intelligence, probably the best
thing he can do

s0n,

(1) Prepare his son for taking the test
by drilling him in the same kind of
excercises as found on the tests.

Provide him

(2)

with many
stimulating cultural experiences.

(3) Check every night to see that

Aamir does his homework.

(4) Insists that Aamir should be
tested on different tests to see if

he gets a higher score.

Pre conventional level of Kohlberg's
moral development theory is not
characterised by one of the following
(1) Egocentricjudgement‘
(2) Punishment &
Orientation

“Obedience

(3) Instrument Relativist Orientation
(4) Authority Maintaining Orientation

P.T. O,



(8)

22. Frt & @ e Frd 7eT & 22. Among the following which is not
developmental task ?

(1) e g 3 @ et F A (1) A co
sfed Sfehar ,

@) = A diva e
@) U@ d @@ FH AR, serferefiet

growing larger

3) Progkessive <bries of changes

towards the goal of maturity

e @ sy
(4) fafra (4) Differentiation
93. 1.Q 3 ¥ 4 M. A, Welfd F 2 93. M. A. in the formula of LQ. represents 4
(1) HEfes AFEE (1) Mental Ability o
(2) GRGFad OISR (2) Maturity Ability
(3) HHRH Y (3) Mental Age
(4) GRgeadl g (4) Maturity Age
24, afwigfe T qftem 2 24. Insight learning results from
(1) E"ﬁkﬁ B2 (1) Reinforcement
(2) @ﬁﬂ?m@ﬁ?ﬂ H (2) Stimulus-response
3) W@ﬁﬂﬂ&ﬁﬂ?ﬂ Hl (3) Gestalt perception
(4) oF=TE FH . (4) Practice ¢
25. s # fa I Ry Sfaaied fear 95. Two factor theory of intelligence was
™ propounded by
(1) dFeEH &l (1) Thorndike
@) 9T E | (2) Thurstone
(3) wgdE g (3) Spearman
(4) fo @ (4) Binet

Le‘_rel—312 77



26. el s Brear wERid @ ¥

217.

oq: e &

(1) FSR FIMEA R & a1 AIfe |

(2) o™ & ffay sgwal @ Sy
HIT =AM | -

3) ﬁmﬁ#ﬁwmw]

(4) M H gHE Mg W T
qrfey |

A

frsm wg arfrm & 9 gamAar @

(1) 2 B A ¥
2 A & Rvaag 3 ¥

" (9) 2 e @ SRR WA

W& o
(4) I0gF & A 3 A
28. N RS SAmener &
(1) ded A @ 3=
(3) Meed A (4) dre|d A
29, Hul-F& R & ey
(1) o= (2) TS
(3) & (4) TH-aTH

30. Prefefed § & PA-81 g™ &8 ?

(1) Yoo - AEE SFTFEET
) Feat - ™ &
3) R - e s
_(43 yTTeTEe, - fRAmTgy ST

(9)

26.

27.

28.

29.

30.

Learners show individual differences,
so a teacher should

(1) enforce strict discipline.

(2) provide a variety of learning
experiences.

(3) increase number of tests.

(4) insist uniform pace of learning.

Simj.lay'(y Yetween gL_lidarice and
learning is o )
-

(1) Both are child centred

(%~Rath are subjectentred
(3) Both on. feedback and
content analysjs

stress

(4) None of the abowaI

The first psychology laboratory was
established by
(1) Cattell
(3) Galton

(2) Wundt
(4) Watson

Classroom teaching should be
(1) Intense (2) Interactive

(3) Easy 4) One-sided

Which one of the following pair is -
correct ?

(1) Pavlov Z Classical conditioning
(2) Kohler — Laws of learning
(3) Skinner —Insight learning

(4) Thorndike — Operant con ditioning

. g

< ._:‘
 Level-3/277 .
a

P.T.O.
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B
T - I/PART - 11
IWI(HINDI)
ﬁé’w:/ﬁ'fw%@aw#a?aﬁ?ﬁa?mfﬂaﬁ - —
31, ‘EF 9= § P 9 TG & g6, ‘maa § B4 HH T 7
n & (2) T (1) &’ (2) 3T
(3) A% (4) & 3) TI (4) PEE
32. @ A PA-A U= ST T 7 ‘mrlqm\asrﬁfﬁﬁ@?am
(1) §Ear 1) P + . (2) FEA R
@ g @ T+ (g) T+ IR
% HE s Prefifa ¥ @ @A 9= gE-he F
(4) b1 Faq ag § e
' ’ ‘ (1) &™ (2) =EH
33. ‘gz @Y AR R Raw @ ad ® @) & @ T
(1) & o9 B B TE gl :
(2) fe 812 g W) frsd 39. afgvEl W 3 A} F HA-A HE
- i a7
(@) TFAE & R R 7 A AR
(@) TR YT A T e 2 (o s it S
(2) Wﬂ‘ A B G |
34, ‘HRUY W= F IJ9GHI QU fONE B foRaT ST 2 |
(1) ge At 3) T i e v @ A
(2) FE Wl AT qu:‘mﬁ—@_ﬁm 2l
3) T=§ ¥ "0t 9y I A (@ﬁﬂﬂﬂ‘mth g 4
(4)'@33[%7"?[5]?1 & 2 s
35. FTH T8N I A HM H 40, Frjofen. =t § @
PI-AT 2
| GO WA wS § 7 - & T o ? T
\'l-) E'Ig$‘qq 1
' ® R (@
@ g (4) forame .
- @F (4) 7



fder : it Tears @ 9EHT U 1T gt
(797 FEgr 41 @ 45 %) $ G99 AT [AEY
& gha

TS T F Ay @ e & [ o
TH WY@ d 2| A QPSSO Haead,
e eferdd: A 21 3Ea ifaRed I
T oA g REw T R Radaim
AR B g ¥ o & FER P b
lgy P W AT B W, R e
Wﬁﬁ-ww,%q@aaﬁwqﬁm

§g0 I AW @ Tedl AR FEH AW )
.o sRgRa @ A Rt @ oae R
] Y TRd & e o | R war
Pl & T 3 g9 # Iifes Rfsan q
I TEd, W, @fiael ok @ a3
e & @& 2, 38 YR 9Nre Rtear )
A T wERE g § fetea q@ e
arft | gfE R g A e W dER 3
qest @ wfe ¥ Aifes aEl oW g &
% A H G & T a qREie gy
F MY Fgd WA TF TG B THA ©

-G A T Sfd-Aud @ S
TR & |7 & o &l 8 3R I T &
e affaa B &1 9 sbefe & e
# 9 AT & FFR FC 2, @ o
AHTHE FORE @E H O W@ s ®9
A Fh ¥ e 3 R wgEm ¥ o
fafgy st B, Remyr] ¥ 99 et
¥, IR W & s & § |Ed o B

(11)

B
Hﬁﬂ,?ﬁﬁ,‘ﬂﬁ-ﬁ‘ﬁﬁﬁﬂfi’ﬁqﬁaﬂw
A oMEE,  dheel,  oEuremst  wd
fafareanadt @t amft 3@ 8, W =& 99 B Wy
4 g, afed, @i ot & oftaa dwa & 7
qEga: SEURT T AEAR # AU GiEd S
R afe &1 afyaq B sar 2, g=-sq &
& ¥ o 50 g § Iv A R o
T B oA & @ W oA B R wge
THEE & e o §Fd ¢, 9T TE i
Wid & aadl 21 8 FT & fF uE A
e A ST FHF A A R CEAR
@A ¢, I faEnt # W@ T B o U

g & e @ e oqm g W emaEd
2l

41. TE oM F Rw 3 R s
HETF 8, e

() & qFa-aFE & REr afetk
H A

(2) & I=-TQM & X IgH dfle™
oA §99 8

(3) 98 TN & IR HeR B

¢ T TE-EPEE A wEEg ol
fem-tF & aeF R

42. T AN @ ¥ FR T R
TS B AT
(1) G qYT A 2
(2) vl & for wamar 2 .
3) afderig 2t @

) T g9 | o< e 8

e



43.

44.

46.

46.

47.

e 1 SfoT e v e ¥
(1) SRR A S

(o) R G i A
(3) FEE w1 P §9
(4) AT AR B D &

e ARer @ FEeE TR HE )

R w9 & af

(1) gERaeEt & ogEra Rew e
S

© TeEE F Gl & o R
fepar SQ

(3) AT P R fFar

4) TF g A R #l S

"y gear A A oMIE 2

qoqufss e

R oot wrn & ‘ordrmrE’ A PR
g7

(1) &, o @ g3
3) 3, S (@) &, o
U I F et o @

(1) g&r@fiﬁrﬂmméﬁw

(2) T W T6F X FA awl

@)/ T § e A @ e
T A

(4) el afE g@ra 812 T AW F H
T FIA el

-
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48.

49.

50.

51.

52.

e # wE e
(1) o+ 9

@ T + &

(3) TE + =R

(4) el + éﬂl

Ty mg;—aﬁf‘aﬁ gey D

%, TR
(1) A T

(2) 99 Jo¥
(3) "o oy
(4) FHE B T

g a= @ s T S R
Rr auet & M A 7

(1) & (2)
(3) A 4) 3
‘IR F e Tagd
(1)
(2) STFIem
(3) Ieq
(4) R
)]
sl s aé’t RS
am?
(1) %ed - ITgue
0
2) 39 H A W - gE
(3) JW - Wew
(4) Froferam - Fersmreran
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53. M 9§ F9 yemw 7872 ? 57. HARYd il § A Uk wE wHagy
(1) A & g T T
e (a) QEIHR
| R, (a) = & w2 B
(3) T g () s Pgwaet @ T
@) ¥ ¥ A Fel . @ aﬂt?{ﬁu.mgm,‘rr_&'fﬁ
’ Aa) ot el s
54. T A F-W i @ (f). = B
m?ﬁ; s (JJ’%arfr.
. ~ ® IFIT
(2) ofw @ FLAT
(3) Ba @ 3T
(4) WE 58. friiaflad & @ o & g &9 & 9
iy .
55. Frefofad & & Feg aeg § omls Brar ) S ot B @ we B
e (2) Iq gt A9 @ 9 )
- 1) T T R (3) I ot B 3 amam ¥
(2 ¥ a% F o § (-3 I A A onsiw B
(3) W M A T 59. ey P w2 7
(4) T 9 o ? m @ 2 g
(3) IRt (4) FEH
56. a”nzﬂ%ﬁiﬁwwsﬂﬁmmﬂw _ .
D 60. 1 & ¥ frg faees 3 ®f 9=
e mﬁaamzﬁam%mw%?
7
= Tl)mﬁmﬁtmﬁ,
LR (2) i, S, e
@ = (3) T, R,
(4) 9R-7 Rggs (4).%@@.

Level-3/277 - P.T.O.
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_ I1I/PART - III
e 211 (3FA5)/LANGUAGE - 1T (ENGLISH)

Direction :

Answer the foHowmg questions by selecting the most apprOP”ate option.

61. Which is the correct indirect

narration of the sentence ?
'_.--———-'——';'"-‘ ®

.“quward my_ men, ".the General

cried, “and face_ the foe brayelys

(1) The Geﬁeral said to hlS SOllelS
to go forward to face the foe
bravely. ' )

I-Nged his men toe

rd and face the foe

(2) The Gemer,
march for
bravely,

(3) The Gengral crieajat his men and

asked th to ﬁght the foe
bravely

(4) The Gene1al told his men to go
forward and face the foe bravely

62. Choose the word whichis the opposite
of ‘ruthless’

(1) Unchari-.tafh{e
(2) Compassiondt
@) 'Reieptiess

(4) I-_Iard|

63. She shouted so loudly that every one
turned around to see.

The word “so’ in the above sentence is

al/an " )
(1) Adverb

(2) Adjective

(3) Prepositi?n

(4) Verb,

Level-3/277

64. Which of the following sentences is
correct ?
(1) Which is the taller, you or he ?

(2) He is a man whom I know is
trustworthy.

(3) He has been ill since two months.
4) 1 remind you lest you forget.

65. Which of the following does not
facilitate second language learning ?

(1) Use of audio-visual aids
(2) Story telling

(3) Dramatisation
(4) Emphasis on theoretical

- grammar

Direction : (Q. Nos. 66 & 67) : Which part

of the given sentences has an error ?

66. They are poor. They can't afford
(1) (2) (3)
the air fair.
(4)
67. People can see fine sceneries
(1) (2)
while travelling to Poona.
(3) (4)



68. © Which of the following is the correct
Passive construction of the sentence ?
I’'m sure my uncle invented this
machihe ~ t
(1) This macjane is invented by my
-
uncleA/ajn bure.
(2 ){(y ngle was invented this
-« machine.

3) I'm sure this \machine has been
~— %9
invented by my|uncle.
- .

(4) rI’m sure this machine

invented by my uncle.

.' T =gt

Direction : (Q.. Nos. 69 f 70) : Replace the

- groyp of words in italics ¥ **e most suitable
o
69. You should .... ok down upon the

was
.

-

optidn.’

poor and the needly
(1) Scorn
(2) Shun
(3) Shirk
(4) Scare
7(1(. The spicy menups have be.en tc:ned
down to suit ghe toM of

' bu-S_Le/’ .
’ (1) Ralette -

(2) Palate /

(3) Palaver

(4) Pallor
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Direction : (Q. Nos. 71 to 76) : Fill in the
blanks in the following sentences by the most

suitable option.

71. We all agreed ........... it was a difficult
exam. -
(1) That (2) Since _ ~
(3) For (4) With

72. It's a good idea — once in a while — to
go out with friends, stay out till five

in the morning and really let ........... .
(1) The cat out of the bag

(2) Off the hook

(3) Your hair down

(4) Off steam

73. Please be quiet. You ........... so much
noise I can't concentreite: )
(1) Made
(2) Make
(3) Are making
(4) Have been making
74. This is the second time I .......... there
(1) Be (2) Was
(3) Am (4) 've been
P.T.O



75.

76.

717.

78.

All the old cutlery has been replaced

BY s g
(1) New (2) New one

(3) Newones (4) New one's

We got up ... ‘dawn and had
breakfast ... eight o'clock.

(1) In, at (2) At, at

(3) At, on (4) On, at

Which of the following statements is
not true ?

(1) All living languages change
constantly.
(2) Languages vary across time,

space, social class, gender, sex,

education, ete.

(3) Regional varieties within a
language are called dialects.
(4) American English, British

. English and Indian English are
the regional dialects of English.

Identify the figure of speech in the
following sentence=

Idleness is the nursery of sinful
thoughts.

(1) Metaphor
(2) Simile
(3) Personification

(4) Antithesis
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79.

80.

81.

82.

Identify the incorrect sentence}

/1) Either you or I am wrong.

(2) Neither he nor you are right.

(3) “I, with all my friends, am grateful

to you.

-

(4) Neither of us like mangoes.

Which of the following words s

spelt ?

(1) Medicine (2) Me digcre

(3) Medievel (@ Meditate

Identify the structure of the sentence

given below :

The child.re_n kept quiet

(1) SV (2 N\NO-

(3) SVC (@ VOO

How that was accomplished is still a

mystery. . -

The subortfinate clause in the above

sentence 1s a7an % X

—
—- 5 .

(1) Adiective clause
(9/ Adverv viause of manner
(3) Adverb clause of result

(4) Noun clause



83. The audience cheered the
participating artists. The word
'participotin.Ma’\bove sentence
is a

(1) Gerund

(2) Present participle

(3y Perfect participle

(4) Infinitive

84. CNoose the correct one word for ‘one

who can be easily duped’
(1) Gullible (2) Cynical

(3) Suspicious (4) Incredulous

85. I rn_n_a__y_g_cing_fvﬁlj__you if I get this
finished. The auxiliary ‘may’ in the
above sentence is used to express
(1) Permission
(2) Offer
(3) Wish .

(4) Possibility

Direction : (Q. Nos. 86 to 90) : Read the
following passage and answer the questions
given below :

When young, we're
because we let our minds run free. But as
we're taught to follow the

naturally creative

rules, our

thinking narrows. For much of life_!;_}.lis can

be a blessing : it wouldn't do to create a new
way home from work if it meant driving
down the wrong side of the road.

But in many areas of our lives, creativity can
be a matter of survival, Things are changing
too fast to get along simply with old ideas.
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Half of what any technical engineer had
learnt ten years ago became obsolete in only
three years; it happens even sooner now. And
what about our home lives 7 With, for
instance, more and more women opting for
careers and independence, couples have to be
more creative about their relationships to
avoid conflicts.

all that
mysterious. One important creative trait was
well-defined by  Nobel
physician Albert Szent-Gyorgyl when he said

Fortunately, creativity isn't

Prize-winning

“Discovery consists of seeing what everybody
has seen and thinking what nobody has
thought.”

“Mental Locks” : How do we start “thinking
what nobody has thought” ? Usually it takes
a(ﬁac on the head, like Sir Isaac Newton
supposedly had when an apple striking his
skull awakened him to the laws of gravity.
Whacks can range from something as major
as losing a Job to something as trivial as
wanting an unusual dish for a dinner party.
We're more likely to respond creatively —
which is to say, think of a new idea — if we've
already been chjppi'ng away at the “mental
locks” that close our minas, _~

b S

86. By creativity the writer means
(1) Producing new works of art.

(2) Manufacturing successful

products.

[8)/Thinking in a fresh way to solve
any problem or achieve anything.

(4) Meeting domestic problems.

P. T 0.



87. “For much of life

88.

this can be a

blessing.” What is ‘this’ ?
(1) A matteror. .ival
2 Following rules

8) Creativity

(4) Driving down the wrong side of

the road

the writer mean by

What does

‘whack’?

(B ..nything which leads you on to
create something.

(2) Losing your job.

(3) Wanting an unusual dish for a

ol -

dinner party.

(4) Narrow thinking.

(18)

89.

90.

What is not said by the writer in the

passage ?

(1) When young, we're naturally
creative. T

(2) As we grow, we're taught to

follow the rules.

3) Creativity can be a matter of

survival. - R

Creativity is mysterious.

(4)

In this passage, the writer is t}'ying to
motivateus t
(1) Follow the rules

{2» JTnlock our own creativity

(3) Stick to our learning

(4) See what ever);body has seen

Level-3/277
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HIT-IV/PART -1V

T &=/ B1IOLOGY
e : e geal & Gt 37 @ fw @8 i Ay ghT

Direction : Answer the following questions by selecting the most appropriate option.

91.

wafes &t % gfoees =9 ¥ |ftpg R
(1) ehmHmfed

(2) ghrAfes
(3) BEUHMEA Ty Fwmfe &t

(4) IRF | F P2 TG

92. AT AW (b9 WY wyE # wew ¥ 7

93.

94,

(1) TAEE (2) I
@3) (4) wERA

(1) FEEERE  (2) NrEReH
(3) IfidERTE (4) SRR

% (BE) 3 = § f= & @

PIF-81 Tl S9GH & 7

(1) 78 X 3 EEAUREERY &9 9%
q¥g ST £ |

(2) TB (P wew)
SR 3 FE H a7 St ¢ |

3) & ufd= ¥ g&g w9 @ W
I FAfERS AR & A
2

(4) T& TOERE w9 ¥ SRuReRm
o 2, A IR PG abrE oF
qa el AW (RERRRRTd
oFe) 3 fafire oiftarse oét & dy
ST B '
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91.

92,

93.

94.

Transcriptionally active chromatin 1s
(1) Heterochromatin
(2) Euchromatin

(3) Both Heterochromatin &
Euchromatin

(4) None of the above

Reindeer moss belongs to which plant
group ?

(1) Bryophytes (2) Angiosperm

(3) Algae (4) Lichens

_'_I‘he epithelial cells of Bowman's
capsule called

(1) Fibrocytes
(3) Amoebocytes

(2) Podocytes
(4) Sclerocytes

Which one of the following is most
appropriate for smake (Heroin) ?

(1) It 1s know_n' for ‘t.heir: effect on

cardiovascular system of ‘the
body. ) '
(2) It interfere with the transport of

neurotransmitter dopamine.

@) It with cannabinoid
receptors present principally, in
the brain.

It is chemically diacetyl morphine,
which bind with specific opioid
receptors present in our CNS and
gastrointestinal tract.

interact

4)

P.T. O.



95.

96.

97.

98.

99

Fer 4 @ g 1 3 Smr &g
Treraieaa F § & S g 7

(1) T (2) 37

@) RErfa (@) ==\ A

P/ & @ #i-a @ Ot avg & anr §

9 7&T e ?

(1) AEFefes it /e ST A R

(%WWW%&I

(3) F% offFeim e awg oft Fed ¥

(4) ¥ gEiieE Wegan @ oA
TR B E |

T$ & 9eY W IuRYd oy
QT FEara &

(1) Tfg=

(2) I GO

(3) W Iugfeh

(4) @URY FAT G

™ #

. F= A A B s A 3 et

199 78728 ?
(1). ¥ e ayvesy wHaTd &

(2) ¥ I 9 T F R
g 21

(3) 3 Faa SiEfoaE & g 9 ¥
(4) ¥ gl e ¥ |
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95.

96.

97.

98.

99,

Which of the following disease ig
treated by antibiotics ?
(2) Dengue

(4) Hansen's disease
-

(1) Mumps
(3) Hepatitis

Which one of the following is not true
about red muscle fibres ?

(1) Myoglobin content is high.

(2) Plenty of mitochondria is present.
(3) They called aerobic muscle fibres

(4) Amount of
reticulum is high.

sarcoplasmic

Pollination of another flower on the
same plant is known as

(1) Xenogamy

(2) Chasmogamy

(3) Herkogamy

(4) Geitonogamy

Which one of the following is a
natural genetic engineer of plants_
according to biologists ?

(1) Propionibacterium sharmani

(2) Monascus purpureus

(3) Agrobacterium tumefaciens

(4) Trichoderma polysporum

Which one among the following is not
true about prototheria ?

(1) They are primitive egg laying
mammals.

@)
3)

Teeth develop in adult stage.

Restricted wholly
Australian Region.

ta  the

(4) They are incompletely warm-
. blooded.



100.

101.

102,

103.

104.

105.

e TR @ o 3
(1) <Hifeay qrd
(2) <HIfeEy Yarg
(3) wHIsEn Bediey

(4) STw w+h

() ¥ Y1 33 9 gewia

(2) T IR B A Tet

(3) g gewoirdr sivw aeide

4) e et

MEAREReE e (W A Rigel 3

qer R @R gy afad @ g am)
FH FIIL Iz B

(1) sH-faa QAfeeg

(2) SE3THH

(3) v e

(4) & & (71 @)

FfE o™ # few omenr @ e
R omeq |fkg aar & ?

(1) dRrEF (2) STEMEN

(3) feardm (4) YPrEm

M o g9t 7 § qrn e B
(1) SRR qur anfef=

(2) TEaTaHE qar RN

(3) wf T MefeiFE

(4) A qur IAHE

Y9 % @0 ¥ N9 IRe B w7 3§
HHITE $gFT 89 A REwge 8
) TEE @ e
(3) W@ (4) TRy
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100.

101.

102,

103.

104,

105.

Malignant Malaria 1s caused by
(1) Plasmodium vivax

(2) Plasmodium malariae

(3) Plasmodium falciparum
(4) All of the above

"Probiotics" are

(1) Cancer inducing microbes

(2) New kind of food allergens

(3) Live microbial food suppliments

(4) Safe antibiotics

Gynaecomastism condition (males
have functional mammary glands to
feed young ones) is best seen in

(1) Duck-billed platypus

(2) Didelphys

(3) Scaly ant-eater

(4) Hedge hog

Recombinase enzyme is activated in
which of the following phase of meiosis ?
(1) Leptotene
(3) Diplotene

(2) Zygotene
(4) Pachytene
Histones are rich in the

(1) Lysines and Arginines

(2) Phenylalanine and Cystein
(3) Leucine and Methionine

(4) Glycine and Valanine
Pteridophyte, which is commonly used
as biofertilizer in paddy fields is
(1) Anabaena (2) Azolla

(3) Salvinia () Anthoceros

P10,



106.

107.

108,

109.

110.

111.

gifheiredm § ¥ A%ifegy g S
2

(1) e T8 & a9 |

(2) 3 &8 # B9 W

(3) oal & fyea R W

(4) IF B g W TE

w el SR § R e g
¥
(1) 140
(3) 200

(2) 240
(4) 100

fadas i o

(1) feemaT

(2) 99 i
(3) witer

(4) I F | B T

QA H qES A B
(1) apd
(2) sF=IIE
~(3) fetdntifram
(4) I9gF |f
sl oferea Rrad afad & 2

(1) g @

(2) freett smarm= & ’
(3) wasfia sae @

(4) FTERIEAHET d

qfreiend # SFRRE o g
2T ®

(1) o7 PifE AT A Fw=apl aran
(2) GId PIAG AT NS Fsdbi aren
(3) e FN@A AR G P=H A
(4) 9iq PR AR AT s are
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106.

107.

108.

109.

110.

111,

Hatschek's r)éphx\dillm in
Branchiostoma is present

(1) On the floor of atrial davity

(2) On t{he roof of oral hood

(3) On tne posterior ¢nd of gonads

(4) On dodeolaterad side of intestine

How mahy base pairs are present in a
)‘ypical nucleosome ?

(1) 140 (2) 240

(3) 200 (4) 100

Secondary lymphoid organ is
(1) Bone-marrow

(2) Thymus

(3) Spleen

(4) None of the above

Digestive gland in mollusca is
(1) Liver

(2) Pancreas

(3) Hepatopancreas

(4) All of the above

Mitchell hypothesis is related to
(1) Flowering °

(2) Membrane transport

(3) Photorespiration

(4) Phosphorylation

An unfertilized mature embryosac of
angiosperm is

(1) 8celled and 9 nucleated

(2) " 7 celled and 8 nucleated

(3) 8celled and 7 nucleated

(4) 17 celled and 7 nucleated
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(112, TISE TF My %, S Bt B 112. Gout is a disease which is dufa to
(1) W P F o q (1) decrease 1ev—el of estrogen
(2) TS A o e A (2) increase level of estrogen
@) INF ot 3 freew F I A P (3) accumulation of uric acid crystals
I :
(4) TR 5@ ¥ Ca™ P T =G @ (4) low concentration of Ca™ in body
i fluid
113. drRfygg it & &y RIS ﬁFﬂT Flﬁ 113. Excretory waste eliminated by
A g & ' Sebaceous glands is '
(1) NaCl (2) =i (1) NaCl (2) Sterols
3) gRa (4) A o (3) Urea (4) Lactic acid
114. &EREH e & 99 ey a2 114. The standard size of the herbarium
sheet is
1 1 .. 1 1 .
(@))] IGEXIOE.W .(1) 165):105 inches
1 1 1 1
(2) 16§x10—2- Ty 2) 16§><10-2- cms
1 1 . 1 1 .
(3) 165x125 EE - (3) 16-—2—x12~2— inches
1 1 1 1
(4) 162 x12- gt (4) 165 x12= cms
115. WEAl & A9RF I9qR_T g FW AW 115, TEEA & ARG IR ¥ FH o
I gereldl ® g ¥ B F @ e a geretal & = F e § @ A
o gafera 787 R ? o gafea 787 R ?
(1) &% IRHA  dferE e - () % gRPA ofedEm -
AT A AN A
(2) 9% TEHTEH TER - WERE (2) F9F TERREE TR - GRRE
3T 3T
(3) “ar] TERAFY el - e @) e CEAATR R - s
HAT HAT
@) de AEE g - Rvfe @) @& ATEE quime - R
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116.

117.

118.

119.

- 120.

q9d 3 b s § waifys wen H
A Iufed &9 & ?
(1) A =T 17
(2) TorgA =R 21
(3) A Y

(4) TR T 1
TSRufaa & @ §
(1) =S EEE
(2) #rEvfRmEt 7 &
(@) SR T g
(4) gar

el & 39 SRRYE g § afad 8N
W FergH ¥ YT AR A o o ¥

(1) s 4
(3) IgB

I e B & @ Fw g 3
(1) Q=T @ afea JereE

@ drw 3Py 2 afdd FSH @ LH

(2) IeA
(4) IgE

(3) &HA FRAMTE MAsgiea (HCG) -

<A @ afaa

(4)'@?‘7 e SR C 2 o e
(HPL)

R @1 #1T 3

(1) 79 TaY Cehred F1 STald
(2) frefm T # scfs da

(3). TSH &I 3Taf¥& 54

(4) & gguo | 3% q9F q6 @A
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116.

117.

118.

Largest number of gene present in.
which human chromosomc‘ ?

(1) Chromosome no. 17

(2) Chromosome no- 21

(3) ChromosomeY

(4) Chromosome no. 1

Symptoms of Ascariasis includes

(1) Internal bleeding

(2) Muscular pain
(3) Swelling on fingers

(4) Fever

Colostrum which is secreted by
mother during initial days of
lactation has abundant

(1) Vitamin C (2) IgA

(3) IgB (4) IgE

119. IR Fiew @@ @ @ Fdg Jfeaw 3

9 F g e &} a=En o g 7
(1) Q=T @ afea deredE
@ dmw 3Py zr afdd FSH @ LH

(3) TA FRAMTE MAsIgiea (HCG) -
. <Ee § afad

(4)'@?:[ e SR C 2 o e
(HPL)

120. Cirphosis is caused by

(1) Chronic use of drug and alcohol
(2) Excessive intake of Vitamin A
(3)- Chronic use of TSH

(4) . Excessive exposure to lead pollutign



121.

122,

123.

124.

125.

(1) T
(3) Erlafe
gH IR @ T

SIS &
(2) =

(4) P T

N Ty
Fed B g

(1) Hisi=
(3) amERy

(2) TEETEY
(4) a3
C, % Fearar &

(1) 1T srqges

(2) EMP qfuy

(3) e sagq

(4) T =%

T T B W oToRa qeid @
ST & BT A T A E AT T Y
T BERE G P B, o deer

() &S (2) EE
@3)-EHPEH  (4) G
%ﬁ?aﬂg'&#m‘?ﬂﬁ% 58 B4, e
UeH fRed a9 21 3 9 fred
g F T F FE FT 9 7

(1) frew ot @fFg &0 § o & fm
#9 pH #I STaYqaar e 2 |

(2) freea & afFg em & foo Serds
pH # @sgea et &1

(3) forew @ | 8 & T arwilg
pH @I HEFH el 81 -

(4) freee e o< pH & i
N afFg T ¥ eed g,
qqeEg T H A § IuRAd
IAF 3 freed A frell # gE
F@m el !
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121.

122.

123.

124.

125.

Viviparous Hchinodgrmata is
(1) Amphiuna (2) Antidon
(3) Holothuria (4) None

Infectious, pathogenic, single
stranded RNA withouf protein coat

are known as

(1) Prions (2) Ribozyme
(3) Virus (4) Viroids
C, cycle isKnown as

(1) Phadtolyelrs

(2) EMP pathway'
(3) Phowgresparacion
(4) Calvin cycle

Due to the attack of Malaria parasite
on R.B.C. they get ruptured and
release a toxic substance known as

(1) Haemozyme (2) Haemozoin

(3) Haemochyme (4) Haemoclavin

Some strains of Bacillus thuringiensis
produces toxic proteins crystals. Why
these proteins crystals do not kl]l the
BacjHus itself ?

(1) Crystals need alkaline pH to
convert to active form.

(2) Crystals need neutral pH to
convert to active form.
(3) Crystals need acidic pH to

convert to active form.
(4) Crystals need first acidic pH
which converts inactive protein
into active toxins, then a catalyst
which present in insect intestine

start activity of these crystals.

P.T.O.
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127.

128.

129,

F 4 & fred dersifear ot
e % &9 ¥ 7¢f g o ?

(1) P

(2) T

(3) s (sim)

(4) TR

IFHT Fegas F e B

(1) 3% 3 I TB WE FH
E LR

(2) 3 & IW (A IN a9 ®H
(erl)

3) @ A gRAT F W@
(4) I | § I T

TR ¥ R @ e, o R
oo B B, 3 wv § dwfvd &
Sl ¥ | 36 GRugEd $ AR

() A< & & ofRe ZFe
T A B

(2) A-URRE F1 T THST ST A 2 |

3) CU<Es & W ol TFe
EETT AT 2 |

(4) CUTRE F TH THST el ol 2 |

Pl yr & faeaw T amr @
1 gt #

(2) @I A

(3) wYEE

(4) TEpg A
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127.

128.

126. Which one of the following do not

have protonephridia as excretory
structure ?

(1) Planaria

(2) Amphioxus

(3) Prawn

(4) Rotifers

Renal calculi means

(1) Inflammation of glomeruli of
kidney

(2) Stomes formed within the kidney

(3) Accumulation of urea in blood

(4) None of thesabove

In Mammals fnsulin is synthesized as
a pronQrméne, which is non-mature
insulin. During its maturation

(1) an extra stretch of A~;Jeptide 18

removed.

(2) a stretch of A-—peptide is
attached.

(3) an extra stretch of C-peptide is
removed.

(4) a stretch of C-peptide is

attached.

129. Fufd w@r #1 fagaw g o @
1 gt #
(2) wIfcEAEH §
(3) YMEE A

(4) T@RY
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134.

W Y D AR v 3w F g
T Y A omawgw 7 0
(1)I'~'4‘3m %ﬁ%m

E e e (gTmfty) &

(2) T THERE w1} A B
9 HETE B9 A FW Rew B

=
(3) 49 oftads
|

(4) T HaR & R 93 4 @y

(1) WHWW%ﬁH
(2)%3&[3@%%%

(3)a‘lﬁ={ﬁ’rﬁmwaﬁﬂi%m%smm

(4)ﬁa?ﬂamtrﬁiﬁf%tr@
X0 9FR & i1 Mt &1 Iemr @

(1) Srafeer
(3) qeft

gt ® @&
(1) @B g 7Bt

(2) e way fafate qoeh

(3) Sarweft wee

(4) 3Tz &

%Eﬁanﬁﬁaﬁwﬁmasrrhqwaﬁ?
TS A1 z, y ddl a Wﬁ%l%’[

fﬁﬂﬂﬁmmﬁﬂﬁff a 9 fra

wTRE (3fr) e & ?

(1) der-eFRaRsd

(2) giaufeRds

(3) eI

(4) TS

(2) TTHER
(4) 994
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130.

131.

132,

133.

134.

Which one of the following is not a
necessary criteria for a molecule to

act as genetic material ?

(1) It should be able to generate its
replica.

It should be chemically more
reactive and structurally less
stable.

It should provide the scope for
slow changes (mutations) that
are required for evolution.

It should be able to be transmit
to progeny.

(2)

(3)

(4)

Which one of the following is not a
example of analogous structure ?

(1)

Eye of octopus and mammalia

(2) Flippers of Penguins and
Dolphins
(3) Thorns and tendrils of

Bougainvillea and Cucurbita

(4) Wings of butterfly and birds

An example of XO type of sex
determination is

(1) Drosophilla (2) Grasshopper
(3) Birds (4) Snakes

Gambusia is a

(1) Fresh water fish

(2) Bony and viviparous fish
(3) Larvivorous fish

(4) All of the above

Lac operon consist of one regulatory
gene and three structural genes z, y
and a. Out of these three structural
gene a gene encodes for

(1) Beta-galactosidase

(2) Transacetylase
(3) Catalyses
(4) i’ermease

P.T.O.
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135.

136.

137.

138.

139.

Which among the following is not a

modification of stem ?
(2) Tuber

(1) Rhizome
(4)Phylloclade

(3) Phyllode

Which of the following statement about

Rakr body is infgemeet ?
(1) Obseryed by Barnanu Bertram!
(2) Can be seen in neutrophils of
femage as drumstit.

Nutuwex of Bary body is one less
than the nuarber of autosomes

Normal male has no Barr body.

(3)

(4)
Which one of the following is not a
stop codon ?

(1) UGA
(3) UAG

(2) UAA
(4) UAC

Virus infected cells secretes a

substance which protect non-infected
cells from further viral infection. This

substance is
(1) Hormone
(2) Intron

(3) Vitamin

(4) Interferon

P & @ @ st & awa
T ? .
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140.

141.

142.

143.

144.

145.

Which one of the following is not a

bone of Ear ossicles ?

(1) Malleus (2) Stapes
(3) Patella (4) Incus
A ST B g

§F I & R
Rrter ety 2
M) W () W o
9 ST )
fasda P SR aF o 3
(1) qitg sren F
(2) ¥ & W §
(3) umfTss &
(4) &3 ¥
The blood protein which maintain
blood pregsure

(1) Haemoglobin+ (2) Fibrinogen

(3) Albumin . (4) Heparin

Plant growth regulator commonly
known as stress hormone is

(1) Auxin

(2) Gibberellins

(3) Cytokinin

(4) Absigsic acid

Sickle-cell Atemjais

(1) Sex-linked’rd¢essive trait

(2) Sex-lmked trait
X-Chromosome

caused by

(3) An autosoma)recessive trait

(4) An autospmal dominant inheritance

P.T.O.

———— =
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146.

147.

148.

149,

150.

Golden rice is rich in precursor of
whijeh Vitamin ?
Jd) A
(3) C

(2) B
(4) D

Which he ..of the following is not a
correct match : o

(1) Cosmoid scale —Rlacoderms

(2) Placoid scale — Ltjné fish

(3) Ganoid scale — Xcipencer

(4) Cycloid state — Amia

RUBISCO is present in

(1) C, plants

#2) ¢, plants

(3) CAM plants
(4) All of the above

Which one of the following is not
correctly matched ?

(1) Balanoglossus — Tornaria larva
12) Petromyzon — Ammocoete larva
(3) Herdmania — Tadpole larva

(4) Myxine — Axolotle larva

Méthanobacterium
(1)

grows anaexobically on cellulosic
material. ’
(2) produces large amount of H,O
and N,.

do not produce methang

used for fermentation of Beverag&..

3
(4)

Level-3/277
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20.

. Rough work should be done only i

. The answers

. Out of the four alternatives for each

answer sheet are to be given
le using Black/Blue ball point

® @

is marked, as

Answers to questions i_n
by darkening complete circ
pen as shown below :

o @

The answer will be treated wrong, if it

iven below :
’ @ @ © 9

If you fill more than one circle it will be treated as a

WIONg answer. ‘
; n the space provided

in the Test Booklet for the same.
are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. 1:\!0 whitener
(white fluid) is allowed for changing answers.
question, only one
i 3 iate answer is to be darkened
e e e D Ball Point Pen on the OMR
completely with Blue/Black Ba :
Answer Sheet. The answer once marked is not allowed to
be changed. )
The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet. |
Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided. _ .
The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.
Candidates are not allowed to carry any textual material,
printed or wrilten, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside Lhe examination hall/room.
Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.
No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the

Invigilator on duty and sign the Attendance Sheet twice. €*

Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheel and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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